STAR
YTINT 7277

B A =

#MEa— R K28114  -K28117 - K28120 - K28123
3 FDNV-1101-FDNVA-1101-FDNVG-1101-FDNVG-1101M

- Bham SIEXDRRIE, I REKXE TERT S0,
- TFEDRO—ENCIE, e -y MREOADHEABY ET,

HIXREIHIA Y —




B M

=

B&EO TEXIZDONT

MERADEIGERIZONT

L Bk THESCOBNE, TRUER & T < 72
S

GECHECECRS

H

A (BGEFRT) TR RIE L UAE

WA DR —AF L — MERRLTWVET,

2. EgoH - k. BTozta®kLT
BUET,
H-vane, mrrEncosmg
PR E % T LY B DR,
7 vea BicgEnsmac, B
fn TS L 722V ilen,

Z ORLT OFHE A& OHAG AR (IR 13,
BEITHEI D% 9FETT, 2L, HHRERN
TH-oTh, HEHEMZ > W TR 2D
MR SETWEELEE LB ET,

FHET S ORI RIF I IF ER O R 4R
THRT LETY, HEFERFE# TH->Th,
B O TR R D o T AR L OME
o2 T TS T EE £,




FDNV-1101-FDNVA-1101-FDNVG-1101-FDNVG-1101M

JL— L

=
[=]

il

BmE

i

ol

Wi

{E %

E2924-016

A TL—Lh

E2010-056

~EENE

M16 x 50 (SW,N)

16

E2924-017

A TL—d

E2010-120

AR

M20 x 150{SW.N)

E2924-018

HAFIL—L

E2010-113

AARILE

M20 x 60 (SW,N)

E2924-019

HAR7L—1s

E2010-089

AR

M18 % 60(SWN)

E2924-020

<AL

E2010-033

AR

M14 x 50(P2)(PW)

E2924-021

TAk

riRn|r|oir |

E2010-240

i SR U AN

M16 % 70(SWN)

o)

E2925-508

TAMIT—

Wl |criba]|—

E2924-022

UFARIVE

[{=]

E2025-503

PPl

(=]

E2625-101

s FEY

10mm

—y
ey

E2924-004

Al

—_
(-]

E2924-005

Abkws

—_
(4]

E2625-100

JoFEL

Bmm

—_
-8

E2802-020

A4

—y
h

E2888-002

g7 )24k

C-2

—y
=23

E2888-003

B7I P % VhS—

pu—y
~I

E2924-006

APE

—y
o

E2888-010

14T

10X 60

—_
=]

E2924-007

BEFIFRILT—

FDNV

| ===l =l=]=]=INn===]=]=]|=]—=




FDNV-1101-FDNVA-1101-FDNVG-1101

T4 T

No. Lk R Joic) Gk No. ks TR Jikic) &
1 924-008 | 712 11 BT-1 | 010-091 | RAAIL b+ M18 x 70 (SW, N) 11
2 | 925-013 | A%k NV 11 BT-2 | 010-240 | BFREMR/L ~ | M16xT70(SW,N) 11
3 | 925-016 | A%k NVA 11 BT-3 | 010-236 | MBAARIL + M12 x 70 (SW, N) 11
4 | 925-026 | A%k NVG 11 BT-4 | 010-237 | MBARIL + M12 x 105 (SW, N) 11
5 1925024 | GR—F - R NVG 5
6 | 925025 | GAR—F - L NVG 5
7 925-034 | gih—F - C NVG 1
8 925023 | w1 NVA-NVG 11




FDNVG-1101M
T4 T

No. Lk TR Jirkic) &2 No. & TR Jiic) 1EE:
1 | E2924-008 | 71 7 11 BT-1 | E2010-091 | RAARIL b+ M18 x 70 (SW, N) 11
2 | E2925-023 | o4 Y 11 BT-2 | E2010-240 | &R &AL b | M16 x 70 (SW, N) 11
3 | E2925-029 | #AEGH - A" yk |R BT-3 | E2010-236 | MiRAAKIL + M12 x 70 (SW, N) 11
4 | E2925-030 | #iEGH -MA'wb | L BT-4 | E2010-237 | MARAKIL + M12 x 105 (SW, N) 11
5 | E2925-040 | #AEGH -F A 9b | CEVH-) 1 BT-5 | E2010-007 | MAR AL + M10 x 35 (SW, N) 22
6 | E2925-026 | Ak 11 BT-6 | E2010-002 | ML b M8 x 30 (SW, N) 66
7 | E2925-027 | &R G & -M R(2 N -9%H) 5

8 | E2925-028 | &R G & -} L (2 -9%H) 5

9 | E2925-041 | &R G & -F C (2N -9%8) 1

KATAMD GF - A" 9b - GF -M [ERB-@) TY,




FDNV-1101

No.| R&E B Pk # 1 No. LEE ] pifE i #®
1 [E2924-023|O—5—F—A 2 i{BT-1] E2010-076 |75 F:K )Lk M18 X 140 (SW,N) 8
2 | E2925-133 | 7—ALFL—k 2 ||BT-2| E2010-056 | /<H )Lk M16 x 50{SW,PW.N) 4
3 |E2925-217|@—5—JL— L 1||BT-3| E2010-060{7<@A L+ M16 X 60 (SW,PWN) 4
4 | E2025-517|_F1)s 306 2 ||BT-4] E2010-074 |75 AA b M16 % 100(SW,N) 2
5 | E2925-132 |#As4 L —k 2 IBT-5| E2010-078 | A AAIL b M16 % 160(SW,N) 4
6 |E2025-123thd0—5— 1 [[BT-6] E2010-077 | R EEIL - M16 X 150{SW,N) 8
7 | E2924-010{ AT R TS5 9k |R i |[[BT-7f E2010-075 | A BFAIL+ M16 x 130 {SW,N) 2
8 | E2924-011 | ATt T 54wk L 1
9 | E2024-012 [T 755wk FL—+ 2
10 | E2700-054|n—)LEE 6 X 35 2
11| E2924-013 | F—LT S vk 2
12 | E2924-014 |F— 6755 ubTL—b 2
13 | E2925-506 [twhE2r 2
14 | E2625-100 |1 FE 6mm 2




FDNVA-1101-FDNVG-1101-FDNVG-1101M
Ha0—>—EEH

No.| B%E R s E# || No. T AR R4 &
1 | E2925-015|0—5—7—L4 21[BT-1]| E2010-076 | R BRI M16 X 140 {SW,N) 8
2 | E2925-133 |[7—ASL—F 2 llBT-2| E2010-056 | A FBAILI M16 % S0{SW,PW,N) 4
3 |E2025-218 |0—S—2L—A4 1 l|BT-3| E2010-060 | A< AH L+ M16 X 60(SW,PW.N) 4
4 | E2925-517 | <7 306 2lleT-4| E2010-074 | A AR LI M16 X 100{SW,N) 2
5 | E2925-132 | &k TL—b 2||BT-5| E2010-078 | A AAIL M16 % 160{SW.N) 4
6 | E2925-404 | hT0—5— 1|BT-8| E2010-077 | RAFILE M16 % 150 (SW,N) 6
7 | E2924-010 | AT BREFT Sk |R 1 |[BT-7| E2010-075 | < AARILE M16 % T30 (SW,N) 2
8 | E2924-011 | ATBF TS vk |L 1
g {E2924-012 |[hTT5 5w —F 2
10 E2700-054 [O—)LIE 2 6x35 2
11{E2924-013 | 7 —LT S5 vb 2
12| E2924-014|F— 46754 9rTL—F 2
13 | E2025-508 [tz w2, 2
14| E2625-100 () FE Gmm 2




EL | S—090801B

PN #t 066-8555 F g W L K ¥ 1 0 6 1 F i 2
TEL 0123—26—1123
FAX 0123—26—2412

FRREXP 06685 F i m £ K 1 0 6 1 F #h 2
TEL 0123—22—5 131
FAX 0123—26—2035

EEEEM 0084100 XEMEEHFLEHAORY 119 154 4
TEL 0162—82—1932
FAX 0162—82—1696

L EEM 080-2462 HLEWmA 2 2%F4d1TH1 2 &t 4
TEL 0155—37—3080
FAX 0155—37—5187

hiEREERT 086-1152 EF M piEF w2 TH16%2
TJTEL 0153—72—2624
FAX 0153—73—2540

FEIEEMOEARTILFMHE 1 111131 2 0FS3
TEL 0198—46—1311
FAX 0198—45—590909

il & E X/ 9830013 EHERWEHTEHRTERAHFFHEA179—1
TEL 022-388-8673
FAX 022-388-8735
INIDE XPT 323-0158 #F A B b bR 2 5 1 2 — 1
TEL 0285-49—1500
FAX 0285—-49—1560

= XAt 700-0973 RILEREELUMTILERFTHE704—-103
TEL 086—243—1147
FAX 086—243—1269

ABgEAT/MNMNLE 16 39 — 1
TEL 096—389—6650
FAX 096—389—6710

IR ERT 885-1202 ERBMEHMHE T SWETEEYE 1003 —2
TEL 0986—53—2222
FAX 0986—53—2233

TS EFEM 028-3172

DiE

HE KB X fr 861-8030

b

D.21.09.18



